M F T RESEH 5 (K15) 2{E B #K
SM7E4F4H (&mA)

Fx ENSEfashE: 1646 b
(B ILHEREST)

BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 15,065
130100|7 W A ®s 5,700 0 5,700{ 10 1,512 648
13010072V A RI& 5,760 0 5,760 12 1,512 972
130100|7 W A BRS 3,575 0 2,075 10 1,512 1,188
130340 ICA LA [y 10,660
130340 ICA LA h= 9,380 0 9,380 10 4,536 2,160
130400| 1% 5 iy 436
130400 1% 5 Eix 130 0 110 10 7,020 2,376
130500(7z 7> iy 176
130500|7z1F > & &I 152 0 152 5 4,536 1,944
130600|1LA Z A iy 651
130600{1 A T A Ee 455 0 455 5 4,320 1,080
131100|H 3 iy 21,885
131100(B 3% B3 6,555 0 6,555 15 3,240 1,296
131100 B3 K& 14,250 0| 12,000 15 2,862 1,512
131700(%F v~ HE 21,503
131700|F v+ R EH 11,835 0| 10,070 10 1,620 864
131700(%F v~ FfE 6,068 0 6,068 10 1,188 702
131800(IF S MAE [y 1,526
131800(I1F 5 WA= FfE 302 255 39| 0.2 108 43
131800(IF S MAE & 985 0 985 4.5 2,835 1,890
131910|F & HE 1,154
131910|Fh & KR 23 0 23| 0.5 702 324
131910|F & BE 111 0 104 0.5 324 302




131910(Fh & [ 300 300 1 648 324
131910(F R & &) 270 270 10 3,564 2,592
131950(B & et 2,077

131950|H A & HE 700 0 225 5 3,024 1,944
131950(B A& BSE 900 0 537 3 1,728 972
131950(A R & =) 387 0 387 3 1,188 756
133400(L % 2 et 14,230

133400(L % % B35 7,990 0 7,990 10 1,620 864
133400(L % 2 FE 3,500 0 3,500| 10 1,901 1,296
133400(L % % = 1,200 0 1,200 10 2,160 972
133400(L % 2 & 580 0 460 4 1,782 540
133400(L % % R 960 0 600 10 1,566

134100 |#8/1 et 10,180

134100 (&A1 = 1,940 0 1,940 5 1,728 1,026
134100 |#8/1 Syt 1,240 0 410 5 2,160 1,404
134100|#A/1 = 5,125 0 4,855 5 2,052 1,188
134100 |88/ BES 180 0 180 5 1,458 1,404
134200(F /1 e 2,150

1342007 I —a1—-Y—-5vF 2,150 0 1,550 10 2,160 1,620
134300(#6F 1 6,459

134300 (%6 7 S 809 809 2 972 540
134300|50F = 4,004 3,459 0.3 130 97
134300 (%6 7 =1 1,623 1,577 0.3 157 140
134400| k= k e 856

134400| k< k FE 9 9 3 4,320

134400| k= k REZR 806 806 4 1,620 1,080
134500| " — < > e 3,821

134500| &’ —~< >~ =40 828 828 0.15 86 76
134500| " — < > = 2,848 2,848 4 2,160 2,052
135100| WA A e 50




135100 WA F A RS 30 30 2 3,078
135200|%= ¥ 20

135200|%= FNEL 20 20 2 2,484 1,944
136100(AA L & TeE 19,665

136100[HA L & T 12,875 12,625 5 3,240 540
136100(AA L & & 1,835 1,765 5 2,052 540
1361001 A L & Ry 4,925 4,925 5 1,728 540
136200|E 5% TeE 3,010

136200| & timE 2,810 2,810 10 2,506 2,117
136200(F % R 200 200 10 3,618

136210| X —27 4 >~ ¥ 5,100

136210( X —7 1 ~ time 5,100 5,100 10 3,780 1,080
136300| 2% ¥ 540

136300(E3 i 540 440 10 5,616 3,240
136600|7- & ¥ 21,600

136600|7z & time 18,530 1,770 20 3,078 2,592
136600|7- A & BE 2,870 2,870 10 3,240 1,080
136600|7z & Rl 200 200 10 1,490
138100|& L W7zl ¥ 1,071

138100(& L W /o ld i 1L 95 95( 0.05 65
138100|& L Wiz lF wE 929 857 0.2 238 62
138500(L® LE ¥ 760

138500| L& LE K% 754 604 0.2 81 76




M F T RESEH 5 (K15) 2{E B #K
SM7E4F4H (&mA)

LSS ENSEfashE: 268 b
(B ILHEREST)

BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE # M A [y 2,430
241260|HE A H A B 430 0 430 10 1,728 1,296
241260|HE # M A BIR S 2,000 0 1,990 10 3,024 2,700
2414508 R HE 7,620
241450 R AL 7,620 0 7,620| 10 3,240 1,620
241481|FaR v HAh A |HH 444
241481|F aR>Hh A | FFL 444 0 0 3
242830|5 LW AT e 7,400
242830|3 LW AT EE 7,400 0 5,400 10 4,860 3,240
242850|EM Y A Z e 230
242850| E#k Y A Z EE 230 0 230 10 5,130 4,536
246000 LB & HE 5,259
246000|L\bB & & 281 262 19| 0.25 356 248
246000( LB & &I 446 0 375| 0.25 324 151
246000|L\B & f&hd 1,009 0 979| 0.27 378 184
24600016 & RI& 1,802 0 1,802 0.25 356 162
246000|L\B & REAN 1,504 0 1,339 0.25 313 173
24600016 & =y 209 0 171 0.23 270 194
247100| 7 — L2 A Oy ¥ 400
2471007 — 2 40y | &M@ 400 0 400 9 15,120 7,560
24830078 I [y 3,000
248300 |78 I REAR 3,000 0 3,000 15 8,640 3,240




